13

[4%]
s
T,
(= 7]

14

6\

N

N

10

[ ]

/4

Y

Itme Name Spec. |Qty
1 |Backplane 762X149 | 1
2 |Backing strip 785X96 1
3 |Door-retaining strips 760X40 1
4 |Top plane 794X379 | 1
5 |[Slip Sheet 762X317 | 3
6 |Leg strip 735X60 2
7 |Soft Backplane 793X342 | 2
8 |Fixed Clapboard 762X317 | 1
9 |[Clapboard 762X344 | 1
10 |Right side plate 981X379 | 1
11 [Right Door panel 798X378 | 1
12 |Left side plate 981X379 | 1
13 |Left Door panel 798X378 | 1
14 |Base plate 794X379 | 1

a. Paste (I1) at the holes of fasteners on the visible surface of each plate.
b. The wall of the cabinet is installed with (8). The (2) is fixed on the wall with

.

The installation is complete.




Hardware List

No. Name Picture Qty. | No. Name Picture Qty. | No. Name Picture Qty.
. Chrome plated cylindrical M6*35 hexagonal semi-
@ Large tapping buckle bar % 17 @ partition nail rod 15 @ round head screw % )
@ L kle wheel V 1 ¢8*35 expansion rubber 5 Di f h
arge buckle whee N = 7 plug ia. 6 flat washer 7
M5*60 cross countersunk | -
@ 8*35 Wood tip 4 @ head galvanized self- 2 @ hex wrench 1
tapping nails

O hinge 4 air hole 2 Plastic nail 4

M4*12 cross

'\

@ countersunk nickel ﬁ# 16 @ Furniture sticker 8888 17 @

plated screw

M4*14 cross . .
@ countersunk self-tapping 8 @ M6720 hexagonal semi- 3

nails (nickel-plated)

round head screw




1\

a. The 6 installed (6) evenly.

b. The 14 adopts (3),(d4) and (5 to connect the 6.
c. The 14 adopts (2) and (D) to connect the 1.

2.

a. The 8 and 9 adopts (2),(D) and (3) to connect the10 and
12.

b. The 1 adopts (2) and () to connect the 9; The 10 and 12
to connect the 14.

3

a. The 2 adopts 2) and (@) to connect the 8 and 9; then Insert
the 7.

b. The 4 adopts (2) and (4) to connect the 3;

c. The 1 adopts 2) and () to connect the 4;

d. The (0) are installed on the 7.




Connect door
panel
4. The 10 and 12 to install the (7) in the
corresponding position, and put the 5 on it
5\
a. Each hinge @ adopts two @ installed on the corresponding position of the
11 and 13.

b. After each hinge are fixed on each door panel, then use (5) and (6) to
connect the corresponding side panels of the cabinet.



	0454cd5db1a51ceef1a5ab0b4f88fc8818fa931cf1e0cfee08774123b84e4e8c.pdf
	0454cd5db1a51ceef1a5ab0b4f88fc8818fa931cf1e0cfee08774123b84e4e8c.pdf

